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Module 1 test

1
Read the text and decide which answer (A, B, C or D) best fits each gap.

Keeping (1) _____ touch with people is so simple these days. With the technology now available, we can get hold (2) _____ people all over the world at any time using mobile phones, email and online social networks. Even creating a new friendship or contact is as easy as sending (3) _____ an invite and only takes a minute. Technology now allows us to go (4) _____ and be connected wherever we are or to chill 
(5) _____ at home and still feel in touch with the world around us. 
At the same time though, technological communication is in some ways also taking (6) _____ face-to-face communication. Many people now spend more time on the internet or their phones, connecting with others in a virtual environment than physically meeting up or staying (7) _____ them in their homes in the real world. However, perhaps one of the biggest challenges with modern communication is keeping (8) _____ with technology. It changes so quickly that trying (9) _____ all the latest devices or sites is virtually impossible. The other one is creating the opportunity for our children to grow (10) _____ knowing how to talk to people face-to-face.

1
A of

B in

C on

D at

2
A on

B for

C from

D of

3
A about

B out

C for

D of

4
A for

B by

C out

D from

5
A out

B over

C by

D off

6
A out of
B out by
C over from
D over for

7
A by

B from

C about

D with

8
A into

B up 

C by

D about

9
A on

B for

C over

D out

10
A up

B by

C out

D about
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2
Read the sentences and use the word given in capitals to form a word that fits in the gap. 

1
Today is a _______________ rainy day and also rather windy.     PARTICULAR
2
He has a very _______________ way of dressing and so is easy to spot in a crowd.     CHARACTER
3
The moment the sun _______________ behind the clouds, we began to feel cold.     APPEAR
4
It took us hours to hang all the _______________ for the party around the room.      DECORATE
5
Although there a lot of _______________ between the twins, you notice the differences the more you talk to them.     SIMILAR
6
How much freedom and _______________ do teenagers in your country have?     INDEPENDENT
      /6
3
Read the text and choose the correct answers in italics.

These days, my grandmother’s dog, Meg, is (1) not nearly as easy / far easier / nearly as easy to look after as she always (2) seems / is seeming / will seem to be asleep in front of the fire. It (3) isn’t mattering / doesn’t matter / didn’t matter what time of day it is, (4) you’ll never come / you’ll never be coming / 
aren’t coming round and have her run up to you with her tail wagging. Years ago, my grandmother 
(5) would to / used to / didn’t take her out for a walk twice a day but now they are (6) a lot older / 
not nearly as old / just about the oldest, they both (7) are preferring / will prefer / prefer to stay inside and relax. I remember when Meg was a young puppy, she (8) used to / was / will run around all the time. In fact, from the moment she woke up, she (9) will sit / was sitting / would sit by the door expecting to go out for a walk. 

      /9
TOTAL:     /25






1
PHOTOCOPIABLE © 2014 Pearson Education Ltd
[image: image2.jpg]ALWAYS LEARNING PEARSON





2
PHOTOCOPIABLE © 2014 Pearson Education Ltd
[image: image1.jpg]PEARSON ALWAYS LEARNING





[image: image1.jpg][image: image2.jpg]